#2/ 11-1 linux/kernel/math/math_emulate.c

J*
* linux/kernel/math/math _emulate. c
*
* (C) 1991 Linus Torvalds
*/

JS*

* Limited emulation 27. 12. 91 — mostly loads/stores, which gcc wants

* even for soft-float, unless you use bruce evans’ patches. The patches
* are great, but they have to be re-applied for every version, and the
* Jibrary is different for soft-float and 80387. So emulation Is more
* practical, even though it’s slower.

*

* 28. 12. 91 — loads/stores work, even BCD. I’1l have to start thinking
* abpout add/sub/mul/div. Urgel. I should find some good source, but I’1l
* just fake up something.

*

* 30. 12. 91 - add/sub/mul/div/com seem to work mostly. I should really
* test every possible combination.

*/

/%

* PiEEEARMFET 91.12. 27 - 4 RZHUE—InE/ a4 BRIERMEH
* [ Bruce Evans [N THREF, 75 W BAEAE A AR A AT 7 OS5, gee 77 X 26
* 184 . Bruce FIAN T AR/F AR I, (HAXEH gec RAVRIRIF XM T FEF -
T HX T AT s S AN 80387, BT IR AN R o DRI A FH 477 B2 B DA s
* BRI, REVI R EERE.

*

* 91.12.28 — &/t b ERAR TR AT LA T, RIS2 BCD Mt aefdi i . 3
* FFURFH G add/sub/mul/div $54. PR, FRMIZE—LEaFR 2Rl Ak
* PR efiE — A .

*

* 91.12.30 - add/sub/mul/div/com IXEEFE UG RZEHA AT UIER T . REMN
* M EE PR A T BE AL A R AE .

*/

SlelexltlzlalzlER=ls
O O oo [ o [O1 [ [ [0 [— [O O 100 [ [ |01 [ W [ [—

21
22 /%
23 #* This file is full of ugly macros etc: one problem was that gcc simply
24 #* didn’t want to make the structures as they should be: it has to try to
25 * align them. Sickening code, but at least I’ve hidden the ugly things
26 * in this one file: the other files don’t need to know about these things.
27 *
28 * The other files also don’t care about ST(x) etc — they just get addresses
29 * to 80-bit temporary reals, and do with them as they please. I wanted to
30 #* hide most of the 387-specific things here.
3L #/

/%
EANFEFy Hh B AL ES S LRI 2 IR — /& gee MU A RRIESE M J L S H N %
BOAMIRET: gee BTG, HEAWK, ARt camf
W PR ER BRI AR X 4 — AN SO T HAWRE P SUHEA R E T ix E R

HABRIFR 7 AN TE ZANIE ST (x) 55 80387 WHRLEM — EAITH 75 243 2 80 {71l i
St T DA SRR . AR AT BEAEIX HLERGBUIT A 387 LA fE R

B S SR N



*/

32
33 #include <signal.h> /) ARG, XUE TS, B T8 T E R AR,
34

35 #define ALIGNED TEMP REAL 1

36 #include <linux/math emu.h> // PPACBRESSLSCM . 5 SN SEE S5 RN 387 A7 St/ E 256
37 #include <linux/kernel.h> // WIZkIMf. &H —LNZHHREETEE L.

38 #include <asm/segment.h> [/ BRI . 8 T A RBA A AR AR RN 2T G bR £
39

40 #define bswapw(x) _ asm  (“xchgb %%al, %%ah”: "=a” (x): 7" ((short)x)) // A ¥ 2 FHLE.

41 #define ST(x) (*_st((x))) // BT A ST (x) 2INEsH .

42 #define PST(x) ((const temp real *) _ st ((x))) // BT E ST (x) Bn#sr4a45t.
13

44 /%

45 * We don’t want these inlined — it gets too messy in the machine-code.
16 #/
/%
* AT X B RO IR A G) - PRYIX 2845 2 L2365 R VR L «
*/
// VAR IX S8 A [F] 44 FRVE R 2 I LR A
47 static void fpop (void) ;
48 static void fpush(void);
49 static void fxchg(temp real unaligned * a, temp real unaligned * b);
50 static temp real unaligned * _ st(int i);
51

/] PATIEF HAR R H .

// ZERBOE SRR B 1387 PR T A7 S R AT R Bk 1 W AR S B AT XK
[/ ETHARE B AT E . RFIEIRARE R, JFPUL SR ETP AR 2 T A
/] TR code. HAENMHAUT code, IFMRAEHE SGHATALE . #H0 AFRAIERAE, Linus
// ERT JUAARFIR switch F2FPHGEAT 07 BAREE.

// BHE info &ikINTRE

52 static void do_emu(struct info * info)

53 {

b4 unsigned short code;
1) temp real tmp;

56 char * address;

57

// EE SR P 1387 SRR T A A R T R RO R AR S B, #A R
[/ WSROI B (B 15) . WK Bhid. WSRAHLHSIREHRERA, HERR
/) AFRBBUOARIE TR RS . IR, MR MR EGEF RS T 0x0f, MIYLH]
/1 WA RIS TVR 38 S . TRAESARINIT ARSI €S, ETP (RIFEE “ Pk T
/] B R

58 if (I387.cwd & 1387.swd & 0x3f)

59 1387. swd |= 0x8000; /) WEIARE B.

60 else

61 1387. swd &= Ox7fff; // EIFRE B.

62 ORIG EIP = EIP; [/ PRAFIE TR 2 e % -
63 /% 0x0007 means user code space */

64 if (CS != 0x000F) { /) AR AR AL .
65 printk ( “math emulate: %04x:%08x\n\r”, CS,EIP);

66 panic ( “Math emulation needed in kernel”) ;

67 }

/) ARIGEATRH AR5 ETIP AbfY 2 P g &Y code.  MIT Intel CPUfFAf#iE N2



/) “ANSk” (Little endien) TERTAY, UEATEH FARADIELF S5HEAMIZE 1. 2 2 57157 Aifal
/) R EAIFEL B — T code HMHAFIMIRT . SR)5 BRI 1 MUGTH i ESC 7
/7 (R 11011) o BEEF e 2 TaEr EIP RIS TSS B 1387 &5 fip 7B+, 1M CS
/] PREE] fes B, FINERS AL B 17 48 2R code JREI fes FEMISE 16 fi.
/) ARAFX AR N T A AT B A PR 3% S I R T DA A ) B S () B AL RS — RE IR AT AL B
// BJEik ETIP 48 M) B 5 (1037 e & sl E 2.

68 code = get fs word((unsigned short *) EIP); // HX 2 FA5[7F S48 240D
69 bswapw (code) ; /] LT .

70 code &= Ox7ff; // BERARES ) ESC 4.

71 1387. fip = EIP; /] RAFTR L TRE .

72 *(unsigned short *) &I387.fcs = CS; /] RS BOEFERT -

73 *(1+(unsigned short *) &I387.fcs) = code; /] RAFACHS

74 EIP += 2; // $RATREHRI R — Y.

/] SRR code, FAREEH & SGHATALER . SF0E A FARFYERH, Linus (A T )L
// ) switch FEFFEREHTACEL. B, HIRSHRIEMERGEEMME (5HFFHEEL , W
// FETR AT

75 switch (code) {

76 case 0x1d0: /% fnop */  /* ZTEAFEFES FNOP */

7 return;

78 case 0x1ldl: case 0x1d2: case 0x1d3: // TR IELSMRIE. kfES, BH.
79 case 0x1d4: case 0x1db: case 0x1d6: case 0x1d7:

80 math abort (info, 1<<(SIGILL-1)) :

81 case 0x1e0: // FCHS - % ST fF547. BJ ST = -ST.

82 ST (0). exponent = 0x8000;

83 return;

84 case Oxlel: // FABS — HX#ast{f. BP ST = [ST|.

85 ST(0). exponent &= Ox7fff;

86 return;

87 case Oxle2: case Oxle3: // IHIaAMML. KfES, BH.

88 math abort (info, 1<<(SIGILL-1)) ;

89 case Oxle4: // FTST = WK TS, [ & EREFF Cn.
90 ftst (PST(0)) ;

91 return;

92 case 0xleb: // FXAM - ¥o#5 TS{H, [FRMESCREFH Cno
93 printk ( “Fxam not implemented\n\r”); // F3EW. KETEH.
94 math abort (info, 1<<(SIGILL-1));

95 case Oxle6: case Oxle7: // I Ia4ME. KES, BH.

96 math abort (info, 1<<(SIGILL-1)) ;

97 case 0Oxle8: // FLD1 — J#HH 1.0 R RINE ST,

98 fpush () ;

99 ST(0) = CONSTI;

100 return;

101 case Oxle9: // FLDL2T — Jm#k 4 Log.(10) | RN ST,
102 fpush () ;

103 ST(0) = CONSTL2T;

104 return;

105 case Oxlea: // FLDL2E - JN#i# % Log.(e) ) E NS ST,
106 fpush () ;

107 ST(0) = CONSTL2E;

108 return;

109 case Oxleb: // FLDPT — Jn#H# Pi 2N ST,

110 fpush () ;

111 ST(0) = CONSTPI;



112 return;

113 case Oxlec: // FLDLG2 — MN# &% Logw(2) FIZINds ST.
114 fpush () ;

115 ST(0) = CONSTLGZ;

116 return;

117 case Oxled: // FLDLN2 — JM#H# % Log.(2) F|R NS ST,
118 fpush () ;

119 ST(0) = CONSTLNZ;

120 return;

121 case Oxlee: // FLDZ — TN 0.0 2 Fhns ST.

122 fpush () ;

123 ST(0) = CONSTZ;

124 return;

125 case Oxlef: /) TR SEI e SRS, KiES, B,
126 math abort (info, 1<<(SIGILL-1)) ;

127 case 0x1f0: case Ox1fl: case 0x1f2: case 0x1f3:

128 case Ox1f4: case 0x1f5: case 0x1f6: case 0x1f7:

129 case 0x1f8: case 0x1f9: case Oxlfa: case Ox1fb:

130 case Oxlfc: case 0Ox1fd: case Oxlfe: case Ox1ff:

131 printk ( "%04x fxxx not implemented\n\r”, code + 0xc800) ;
132 math _abort (info, 1<<(SIGILL-1)) ;

133 case 0x2e9: // FUCOMPP — JEiRJF HLEL.

134 fucom (PST (1), PST(0)) ;

135 fpop )5 fpop () ;

136 return;

137 case 0x3d0: case 0x3dl: // FNOP - X} 387. !!Mi%Z 0x3e0, 0x3el.
138 return;

139 case 0x3e2: // FCLEX - JEREFH HEIrE.

140 1387. swd &= 0x7f00;

141 return;

142 case 0x3e3: // FINIT - #3245

143 1387. cwd = 0x037f;

144 1387. swd = 0x0000;

145 1387. twd = 0x0000;

146 return;

147 case 0x3e4: // FNOP — X7 80387,

148 return;

149 case 0x6d9: // FCOMPP — ST(1) 5 ST btb&k, HHAREEIEMIIK.
150 feom(PST (1), PST(0)) ;

151 fpop O ; fpop () ;

152 return;

153 case 0x7e0: // FSTSW AX — fRAFAUHPIRA 72 AX FAF8S .
154 *(short %) &EAX = 1387. swd;

155 return;

156 }

// FHFFMEAESE 2 7Fif)5 3 LR & REG 484 . B 11011, XXXXXXXX, REG FZ A4S
157 switch (code >> 3) {

158 case 0x18: // FADD ST, ST(i).
159 fadd (PST(0), PST(code & 7), &tmp) ;

160 real to real (&tmp, &ST(0)) ;

161 return;

162 case 0x19: // FMUL ST, ST(i).



—
-3
o

case

case

case

case

case

case

case

case

case

case

case

case

fmul (PST (0), PST (code & 7), &tmp) ;
real to real (&tmp, &ST(0)) ;

return;

Oxla: // FCOM ST (i)
fcom (PST (code & 7), &tmp) ;
real to real (&tmp, &ST(0)) ;
return;

Ox1b: // FCOMP ST (i)
fcom (PST (code & 7), &tmp) ;
real to real (&tmp, &ST(0)) ;
fpop () ;
return;

Oxlc: // FSUB ST, ST(i).
real to real (&ST(code & 7), &tmp) ;
tmp. exponent = 0x8000;
fadd (PST (0), &tmp, &tmp) ;
real to real (&tmp, &ST(0)) ;
return;

0x1d: // ESUBR ST, ST(i).
ST(0). exponent ~= 0x8000;
fadd (PST (0), PST (code & 7), &tmp) ;
real to real (&tmp, &ST(0)) ;
return;

Oxle: // FDIV ST, ST(i).
f£div (PST(0), PST (code & 7), &tmp) ;
real to real (&tmp, &ST(0)) ;
return;

Ox1f: // FDIVR ST, ST(i).
fdiv (PST(code & 7),PST(0), &tmp) ;
real to real (&tmp, &ST(0)) ;
return;

0x38: // FLD ST(i) .
fpush () ;

ST(0) = ST((code & 7)+1);
return;

0x39: // FXCH ST({i) .
fxchg (&ST(0), &ST (code & 7)) ;
return;

0x3b: // FSTP ST(1i) .
ST(code & 7) = ST(0);
fpopO);
return;

0x98: // FADD ST(i), ST.
fadd (PST (0), PST (code & 7), &tmp) ;
real to real (&tmp, &ST (code & 7)) ;
return;

0x99: // FMUL ST(i), ST.
fmul (PST (0), PST (code & 7), &tmp) ;
real to real (&tmp, &ST (code & 7)) ;
return;

0x9a: // FCOM ST (i) o
fcom(PST (code & 7),PST(0)) ;
return;



case

case

case

case

case

case

case

case

case

case

case

case

case

0x9b: // FCOMP ST (i)
fcom (PST (code & 7),PST(0)) ;
fpop();
return;

0x9c: // FSUBR ST (i), ST,
ST(code & 7).exponent = 0x8000;
fadd (PST (0), PST (code & 7), &tmp) ;
real to real (&tmp, &ST (code & 7)) ;
return;

0x9d: // FSUB ST(i), ST.
real to real (&ST(0), &tmp) ;
tmp. exponent = 0x8000;
fadd (PST (code & 7), &tmp, &tmp) ;
real to real (&tmp, &ST (code & 7)) ;
return;

0x9e: // EDIVR ST(i), ST.
f£div (PST(0), PST(code & 7), &tmp) ;
real to real (&tmp, &ST (code & 7)) ;
return;

0x9f: // FDIV ST(i), ST,
£div (PST (code & 7),PST(0), &tmp) ;
real to real (&tmp, &ST (code & 7)) ;
return;

0xb8: // FFREE ST(i). AR,
printk ( “ffree not implemented\n\r’);
math abort (info, 1<<(SIGILL-1)) :

0xb9: // FXCH ST(i) .
fxchg (&ST(0), &ST (code & 7)) ;
return;

Oxba: // FST ST(i) .
ST (code & 7) = ST(0);
return;

Oxbb: // FSTP ST(i) .
ST (code & 7) = ST(0);
fpop () ;
return;

Oxbc: // FUCOM ST (i) .
fucom (PST (code & 7),PST(0)) ;
return;

Oxbd: // FUCOMP ST (i)
fucom (PST (code & 7),PST(0)) ;
fpopO);
return;

0xd8: // FADDP ST (i), ST,
fadd (PST (code & 7), PST(0), &tmp) ;
real to real (&tmp, &ST (code & 7)) ;
fpopO);
return;

0xd9: // FMULP ST (i), ST,

fmul (PST (code & 7), PST(0), &tmp) ;
real to real (&tmp, &ST (code & 7)) ;

fpop () ;
return;



269 case Oxda: // FCOMP ST(i) .

270 fcom (PST (code & 7),PST(0)) ;

271 fpop O ;

272 return;

273 case Oxdc: // FSUBRP ST(i), ST.
274 ST(code & 7).exponent = 0x8000;

275 fadd (PST(0), PST (code & 7), &tmp) ;

276 real to real (&tmp, &ST (code & 7)) ;
217 fpop O ;

278 return;

279 case 0xdd: // FSUBP ST (i), ST,
280 real to real (&ST(0), &tmp) ;

281 tmp. exponent = 0x8000;

282 fadd (PST (code & 7), &tmp, &tmp) ;

283 real to real (&tmp, &ST (code & 7)) ;
284 fpop () ;

285 return;

286 case Oxde: // FDIVRP ST(i), ST.
287 f£div (PST(0), PST(code & 7), &tmp) ;

288 real to_real (&tmp, &ST (code & 7)) ;
289 fpop () ;

290 return;

291 case Oxdf: // FDIVP ST(i), ST,
292 fdiv (PST(code & 7),PST(0), &tmp) ;

293 real to real (&tmp, &ST (code & 7)) ;
294 fpop O ;

295 return;

296 case 0xf8: // FFREE ST (i) . ARSEZH.
297 printk ( “ffree not implemented\n\r’);
298 math abort (info, 1<<(SIGILL-1)) ;

299 fpop )5

300 return;

301 case 0xf9: // FXCH ST(i) .

302 fxchg (&ST(0), &ST (code & 7)) ;

303 return;

304 case Oxfa: // FSTP ST (i) .

305 case Oxfb: // FSTP ST (i)

306 ST (code & 7) = ST(0);

307 fpop ) ;

308 return;

309 }

// KbERES o ANFEATAL T--6 & MOD. A7 2——0 & R/M 19384, Bl 11011, XXX, MOD, XXX, R/M 10
// ARG, MOD 7R FF2/FHhAb s, [PRthix By e ik 5 1 Oxe7 (Ob11100111) BEifi4 MOD,

310 switch ((code>>3) & Oxe7) {

311 case 0x22: // FST  — {RAFEANGESEH (RISEHD .

312 put_short real (PST(0), info, code) ;

313 return;

314 case 0x23: // FSTP - LRAFBREFESH SO

315 put_short real (PST(0), info, code) ;

316 fpop ) ;

317 return;

318 case 0x24: // FLDENV — Jina ppak B IR A A5 1 75 A7 45 55



319 address = ea(info, code) ;

320 for (code = 0 ; code < 7 ; codet+) {

321 ((long *) & 1387) [code] =

322 get fs long((unsigned long *) address);
323 address += 4;

324 }

325 return;

326 case 0x25: // FLDCW — fm#kda i+
327 address = ea(info, code) ;

328 *(unsigned short *) &I387.cwd =

329 get fs word ((unsigned short *) address);
330 return;

331 case 0x26: // FSTENV — fif A7 Ak 2R 2R A5 s ) B A7 4 55
332 address = ea(info, code) ;

333 verify area(address, 28) ;

334 for (code = 0 ; code < 7 ; codet++) {

335 put fs long( ((long *) & 1387) [code]
336 (unsigned long *) address);
337 address += 4;

338 }

339 return;

340 case 0x27: // FSTCW — f#fe4ziil .
341 address = ea(info, code) ;

342 verify area(address, 2) ;

343 put fs word(I387. cwd, (short *) address);
344 return;

345 case 0x62: // FIST - A4
346 put long int (PST(0), info, code) ;

347 return;

348 case 0x63: // FISTP - f#f7 554
349 put_long int (PST(0), info, code) ;

350 fpop O ;

351 return;

352 case 0x65: // FLD - In#d & Clmm) L8,
353 fpush () ;

354 get_temp real (&tmp, info, code) ;

355 real to real (&tmp, &ST(0)) ;

356 return;

357 case 0x67: // FSTP — {474 FELH .
358 put_temp real (PST(0), info, code) ;

359 fpop ) ;

360 return;

361 case Oxa2: // FST — 47 RURG S5
362 put_long real (PST(0), info, code) ;

363 return;

364 case 0xa3: // FSTP — {7 XU P S50
365 put_long real (PST(0), info, code) ;

366 fpop ) ;

367 return;

368 case Oxa4: // FRSTOR — YKILFTH 108 AT A A7 45 N7
369 address = ea(info, code) ;

370 for (code = 0 ; code < 27 ; codet++) {

371 ((long *) & 1387) [code] =



372 get fs long((unsigned long *) address);

373 address += 4;

374 }

375 return;

376 case 0Oxa6: // FSAVE — fRAEPA 108 T 7748 N4 o
377 address = ea(info, code) ;

378 verify area(address, 108) ;

379 for (code = 0 ; code < 27 ; codet+) {

380 put fs long( ((long *) & 1387) [code]
381 (unsigned long *) address);
382 address += 4;

383 }

384 1387. cwd = 0x037f;

385 1387. swd = 0x0000;

386 1387. twd = 0x0000;

387 return;

388 case 0xa7: // ESTSW - {R1EIREFE,
389 address = ea(info, code) ;

390 verify area(address, 2) ;

391 put fs word(1387. swd, (short *) address) ;
392 return;

393 case Oxe2: // FIST — DRAFFIEEAIEL,
394 put_short _int (PST(0), info, code) ;

395 return;

396 case Oxe3: // FISTP — {RAFFEHEAIHYL.
397 put_short _int (PST(0), info, code) ;

398 fpop )5

399 return;

400 case Oxe4: // FBLD - Jin#& BCD ZEA1% .
401 fpush () ;

402 get BCD (&tmp, info, code) ;

403 real to real (&tmp, &ST(0)) ;

404 return;

405 case 0xeb: // FILD — M#RKEERIEL.
406 fpush () ;

407 get longlong int (&tmp, info, code) ;

408 real to real (&tmp, &ST(0)) ;

409 return;

410 case 0xe6: // FBSTP — {R4F BCD Z5HI%;.
411 put_BCD (PST (0), info, code) ;

412 fpop () ;

413 return;

414 case 0xe7: // BISTP — fRAFKHERIHL.
415 put_longlong int (PST(0), info, code) ;

416 fpop () ;

417 return;

418 }

// NI 2 8% 5184 . HERIAERAS RGN, 109 (1) MF [E B @ 238N, REHRTE
// OPA #1 OPB FIZH-&{EHEAT 4 I ACTE . HIALZE 11011, MF, 000, XXX, R/M LR AT$5 4R .

419 switch (code >> 9) {

420 case 0: // MF = 00, %54 (32 f7s%0 .
421 get _short real (&tmp, info, code) ;

422 break;



423 case 1: // MF = 01, 554480 (32 fm¥50 .

424 get long int (&tmp, info, code) ;
425 break;
426 case 2: // MF = 10, KSE% (64 frse0 .
427 get long real (&tmp, info, code) ;
428 break;
429 case 4: //NF = 11, KB (64 i 8HD o ! B case 3.
430 get short int (&tmp, info, code) ;
431 }

// WEERVE SR A ER 2 AT OPB AXRY .
432 switch ((code>>3) & 0x27) {
433 case 0: // FADD,
434 fadd (&tmp, PST(0), &tmp) ;
435 real to real (&tmp, &ST(0)) ;
436 return;
437 case 1: // FMUL,
438 fmul (&tmp, PST(0), &tmp) ;
439 real to real (&tmp, &ST(0)) ;
440 return;
441 case 2: // FCOM,
442 fcom (&tmp, PST(0)) ;
443 return;
444 case 3: // FCOMP,
445 fcom (&tmp, PST(0)) ;
446 fpop )5
447 return;
448 case 4: // FSUB.
449 tmp. exponent = 0x8000;
450 fadd (&tmp, PST(0), &tmp) ;
451 real to real (&tmp, &ST(0)) ;
452 return;
453 case b5: // FSUBR,
454 ST(0). exponent = 0x8000;
455 fadd (&tmp, PST(0), &tmp) ;
456 real to real (&tmp, &ST(0)) ;
457 return;
458 case 6: // FDIV,
459 fdiv (PST(0), &tmp, &tmp) ;
460 real to real (&tmp, &ST(0)) ;
461 return;
462 case T: // EDIVR,
463 fdiv (&tmp, PST (0), &tmp) ;
464 real to real (&tmp, &ST(0)) ;
465 return;
466 }

// AEFERFEAN 11011, XX, 1, XX, 000, R/M frIHE 4105
467 if ((code & 0x138) == 0x100) { // FLD. FILD,
468 fpush () ;
469 real to real (&tmp, &ST(0)) ;
470 return;
471 }

/) BRI HFES .
472 printk ( “Unknown math—insns: %04x:%08x %04x\n\r’, CS, EIP, code) ;



473
474
475

476
477
478
479
480
481
482
483
484
485
486
487

488
489
490
491
492
493
494

495
496
497
498
499
500
501
502
503
504

205
206

507
508
509
510
511
512

math abort (info, 1<<(SIGFPE-1)) ;

}

// CPU S v int7 I F ) 80387 417 H4% I B %K

// BT AT I A A, B B P EE 2 AR A used_math, SRJEHILHIL 80387
// WEHIT RESFIRHET . BSaMERPR int7 A AR ERTIR B HhE s £ ASE0R
// FRIEASTTETEE do_emu() o

// Z¥  false 7& orig eip.

void math emulate(long  false)
{
if (!current—>used math) {
current—>used math = 1;
1387. cwd = 0x037f;
1387. swd = 0x0000;
1387. twd = 0x0000;
}
/* & false points to info-> _orig eip, so subtract 1 to get info */

do_emu((struct info *) ((&  false) — 1));

}

// b EARAE
// R PERBITC R R A AE B E ARSI 4R RS, 1Z R B e Ik B AR R IR ETP, IRk IETR
// A SE AR, BB ARIBEHR I T int7 ACFENFE U A B BRI IR B, B EER (A B
// WA R
void _math abort(struct info * info, unsigned int signal)
{

EIP = ORIG EIP;

current->signal |= signal:

_asm__ (“movl %0, %%esp ; ret”::”g” ((long) info));

}

[/ BRIMAS R R AE .

// FRIRFS T TOP FEE N 1, FFRL 7 B
static void fpop (void)

{

unsigned long tmp;

tmp = 1387. swd & Oxffffc7ff;
1387. swd += 0x00000800;
1387. swd &= 0x00003800;
1387. swd |= tmp;

}

// BINE AR AR .
// BRIRAT TOP B 1 (RN 7) , FF A 7 B,
static void fpush (void)

{

unsigned long tmp;

tmp = 1387. swd & Oxffffc7ff;
1387. swd += 0x00003800;

1387. swd &= 0x00003800;

1387. swd |= tmp;



(@)}
—
w

}

[@)]
—
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[/ BEHPAS BRI A AT

515 static void fxchg(temp real unaligned * a, temp real unaligned * b)
516 {

17 temp real unaligned c;

518

519 c = *a;

520 *a = *b;

521 *b = c;

522 )

523

O/ HUST () RIS A
/) HURAS T TOP FBUE . N 13652 M4 H$0HR 25 /798 2 IR0, S5 IR 8 ST (1) X R H54t .

524 static temp real unaligned * _ st(int i)

525 {

526 i += 1387.swd >> 11; /) BURZ T TOP “ B ff

527 i &= T

528 return (temp real unaligned *) (i*10 + (char *) (I387.st_space)) ;
529 }




